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MATHS

BOOKS - UNIQUE MATHS (HINGLISH)

QUADRATIC EQUATIONS

1. Solve : Decide the are quadratic equation ?

322 — 52 +3=0

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3afkgYGz3P9Q

2. Solve : Decide, is it quadratic equation ?

9y° +5=10

° Watch Video Solution

3. Solve : Decide the are quadratic equation ?

m3 —5m?2+4=0

° Watch Video Solution

4. Determine nature of roots of the quadratic

equation: 2% 4+ 2z — 9 = 0.



https://dl.doubtnut.com/l/_nn6s3CD7BBVE
https://dl.doubtnut.com/l/_610vhrRaECvi
https://dl.doubtnut.com/l/_TZe4JX7RS5hM

| @ Watch Video Solution

Practice Set 2 1

1. Write any two quadratic equations.

° Watch Video Solution

2.2 + 5z — 2 = 0 are quadratic equation ?

o Watch Video Solution



https://dl.doubtnut.com/l/_TZe4JX7RS5hM
https://dl.doubtnut.com/l/_mvhgz71aYUI6
https://dl.doubtnut.com/l/_uhB5jLppUwGm

3.y? = by — 10 are quadratic equation ?

o Watch Video Solution

1
4.y° + Z = 2 are quadratic equation ?

o Watch Video Solution

5.z + — = - 2 are quadratic equation ?

° Watch Video Solution



https://dl.doubtnut.com/l/_bA1Njv5gnLWg
https://dl.doubtnut.com/l/_3plTkgpY2nv2
https://dl.doubtnut.com/l/_9JRuaL0YETbK

6. (m + 2)(m — 2) = 0 are quadratic equation ?

o Watch Video Solution

7. Decide it is quadratic  equations

m3 + 3m? — 2 = 3m?

o Watch Video Solution

8. Write the 2y = 10 — y? equation in the form

azx?® + bz + ¢ = 0, then write the values of a,b,c .

o Watch Video Solution



https://dl.doubtnut.com/l/_BCaJnTisLllV
https://dl.doubtnut.com/l/_DjKtiwSyPurp
https://dl.doubtnut.com/l/_4mRhmx49Yw30

9. Write the (z — 1) = 2z 4+ 3 equation in the
form az’® + bx + ¢ = 0, then write the values of

a,b,c.

° Watch Video Solution

10. Write the z® + 5z = — (3 — z) equation in
the form az® + bx +¢c = 0 , then write the values

of ab,c.

° Watch Video Solution



https://dl.doubtnut.com/l/_4mRhmx49Yw30
https://dl.doubtnut.com/l/_JplVScbS9kRx
https://dl.doubtnut.com/l/_OYoEUAWwHVEb
https://dl.doubtnut.com/l/_30VJAG1Yzo21

11. Write the 3m? = 2m? — 9 equation in the form

az’ + bz + ¢ = 0, then write the values of a,b,c.

° Watch Video Solution

12. Write the p(3 + 6p) = — 5 equation in the
form az®’ +bx +c =0 , then write the values of

a,b,c.

o Watch Video Solution

13. Write the 2z — 9 = 13 equation in the form

az’ + bz + ¢ = 0, then write the values of a,b,c.



https://dl.doubtnut.com/l/_30VJAG1Yzo21
https://dl.doubtnut.com/l/_mgpuVO7WGfuq
https://dl.doubtnut.com/l/_eNAQg0zU6jj6

° Watch Video Solution

14. Determine whether the values given against
each of the quadratic equations are the roots of
the quadratic equation or not :

> +4r —-5=0z=1, —1

o Watch Video Solution

15. Determine whether the values given against

each of the quadratic equation are the roots of the


https://dl.doubtnut.com/l/_eNAQg0zU6jj6
https://dl.doubtnut.com/l/_scFtREaoLxKA
https://dl.doubtnut.com/l/_dnNJN2Y0SCnP

equation.

5
2m?—wnzmnp=z§

° Watch Video Solution

16. Find k if x=3 is a root of equation

kx? — 10z -3 = 0.

° Watch Video Solution

7. One of the roots of equation

5m?> +2m+k=0 is — % Complete the

following activity to find the value of 'k'.



https://dl.doubtnut.com/l/_dnNJN2Y0SCnP
https://dl.doubtnut.com/l/_BlEcdahDfQBX
https://dl.doubtnut.com/l/_OFUMoVj6jfMg

‘ o Watch Video Solution

Practice Set 2 2

122 — 152 +54 =0

o Watch Video Solution

2.224+2—-20=0

o Watch Video Solution



https://dl.doubtnut.com/l/_OFUMoVj6jfMg
https://dl.doubtnut.com/l/_yJiM3R5PWA2g
https://dl.doubtnut.com/l/_GG1Lnriz6Jqf

3. Solve the following quadratic equations by

factorization.

20° + 27y +13 =0

° Watch Video Solution

4. Solve the following quadratic equations by
factorization.

5m? = 22m + 15

° Watch Video Solution



https://dl.doubtnut.com/l/_is525t8lX7Fd
https://dl.doubtnut.com/l/_7MQibYOvZ30I

5. Solve the following quadratic equations by
factorization.

2 — 20 + — —
x :1:+2—0

° Watch Video Solution

6. Solve the following quadratic equations by

factorization.

2
6r — — =1
T

° Watch Video Solution



https://dl.doubtnut.com/l/_VpNxu1Q1v33B
https://dl.doubtnut.com/l/_vJyRYT4k5cru

7. Find the roots of the following quadratic

equations by factorisation :

V2x% 4+ Tz + 52 =0

o Watch Video Solution

8. Solve the following quadratic equations by

factorization.

3z — 26z +2=0

° Watch Video Solution



https://dl.doubtnut.com/l/_qoS3ROnqr9oi
https://dl.doubtnut.com/l/_9XWxiMCoINUW

9. Solve the following quadratic equations by

factorization.

2m(m-24)=50

° Watch Video Solution

10. Complete the following activity to sovle the
quadratic equation +/2z° + 7z + 52 =0 by
factorisation method :

25m? = 9

o Watch Video Solution



https://dl.doubtnut.com/l/_FJojXiZBdCxG
https://dl.doubtnut.com/l/_puHQeTTwa9JZ
https://dl.doubtnut.com/l/_GG7meS144lV5

11. Solve the following quadratic equations by
factorization.

Tm? = 21m

o Watch Video Solution

12. Solve the following quadratic equations by
factorization.

m2 —11 =0

o Watch Video Solution

Practice Set 2 3


https://dl.doubtnut.com/l/_GG7meS144lV5
https://dl.doubtnut.com/l/_0CEOkWO0ePPr

1. Solve the following quatratic equations by

completing square method :

2+ —-20=0

o Watch Video Solution

2. Solve the following quatratic equations by
completing square method :

22+ 22 —5=0

° Watch Video Solution



https://dl.doubtnut.com/l/_oFqsrVcrUky2
https://dl.doubtnut.com/l/_tbbnAmcHPJzs

3. Solve the following quatratic equations by

completing square method :

m? —5m = —3

o Watch Video Solution

4. Solve the following quadratic equations by
completing the square method.

9y’ — 12y +2=0

° Watch Video Solution



https://dl.doubtnut.com/l/_2LjVAGqqWFcH
https://dl.doubtnut.com/l/_Y3vfOWbP3FrA

5. Solve the following quatratic equations by
completing square method :

2y* + 9y + 10 = 0

° Watch Video Solution

6. Solve the following quatratic equations by
completing square method :

5z = 4z + 7

° Watch Video Solution

Practice Set 2 4


https://dl.doubtnut.com/l/_IaQMNDE0GRp3
https://dl.doubtnut.com/l/_7FQ2g76DixBA

1. Compare the given quadratic equation to general
form and write values of a, b, c

2 -7z +5=0

o Watch Video Solution

2. Compare the given quadratic equation to
general form and write values of a, b, c

2m? = 5m — 5

° Watch Video Solution



https://dl.doubtnut.com/l/_xCnxgmQelvvl
https://dl.doubtnut.com/l/_Tj3leUz8WxOx

3. Compare the given quadratic equation to

general form and write values of a, b, c

° Watch Video Solution

4. Solve using formula.

2 4+6x+5=0

° Watch Video Solution



https://dl.doubtnut.com/l/_0pI9OL3Lgg8v
https://dl.doubtnut.com/l/_fiOZHeljegdX

5. Solve using formula

2 -3z —-2=0

° Watch Video Solution

6. Solve the following quadratic equations by using

formula method :

3m?+2m—7=0

° Watch Video Solution



https://dl.doubtnut.com/l/_sHftI2hpc29U
https://dl.doubtnut.com/l/_uBRqMTygoGxk

7.Solve using formula

5m? —4m — 2 =0

° Watch Video Solution

8. Solve using formula

1,

° Watch Video Solution

9. Solve using formula

522 + 13z +8 =0



https://dl.doubtnut.com/l/_aMwbHNIwi1Bo
https://dl.doubtnut.com/l/_dCyt7ddaHnez
https://dl.doubtnut.com/l/_KhxPgLltA3d7

| @ Watch Video Solution

Practice Set 25

1. Find the value of discriminant.

224+ 7 —1=0

o Watch Video Solution

2. Find the value of discriminant

2y — 5y + 10 = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_KhxPgLltA3d7
https://dl.doubtnut.com/l/_L9sAerDLY90e
https://dl.doubtnut.com/l/_LmQAVScMGK3i

3. Find the value of discriminant.

V22t + 42 +2/2=0

° Watch Video Solution

4. Determine the nature of roots of the quadratice
equation

2 —4r+4=0

° Watch Video Solution



https://dl.doubtnut.com/l/_AMYLtfbyh7gQ
https://dl.doubtnut.com/l/_q50Qz09VDAxV

5. Determine the nature of roots of the quadratice
equation

2y° —Ty+2=0

° Watch Video Solution

6. Determine the nature of roots of the quadratice
equation

m2+2m+9=0

° Watch Video Solution



https://dl.doubtnut.com/l/_T0YkKhEaVWbw
https://dl.doubtnut.com/l/_rNnRhgZgb9Km

7.Form the quadratic equation if its root are O and

4

° Watch Video Solution

8. Form the quadratic equation if its root are 3 and

-10

° Watch Video Solution

9. Form the quadratic equation if its root are
1 1
22

2

[ - |


https://dl.doubtnut.com/l/_WzmvvEJmZGcZ
https://dl.doubtnut.com/l/_1II30sU0s56F
https://dl.doubtnut.com/l/_lDimMsAQTIpX

| @ Watch Video Solution

10. Form the quadratic equation if its root are

2 —./5,2+ 5

° Watch Video Solution

11. Sum of the roots of a quadratic equation is
double their product. Find k if equation is

x? —4kx +k+3=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_lDimMsAQTIpX
https://dl.doubtnut.com/l/_ld6dWRFq8Aya
https://dl.doubtnut.com/l/_X5Z1KFK4o4sf
https://dl.doubtnut.com/l/_yL49TDQh4y6Q

12.

o, B areroot of y2—2y_7:0 find a2_|_52

° Watch Video Solution

13.

a, B arerootof y> —2y—7=0 find o+ B°

° Watch Video Solution

14. The roots of the each of the following quadratic
equations are real and equal, find k.

3P+ ky+12=0



https://dl.doubtnut.com/l/_yL49TDQh4y6Q
https://dl.doubtnut.com/l/_xFKySQ06ytka
https://dl.doubtnut.com/l/_EPzZLxn5Hhpf

° Watch Video Solution

15. The roots of each of the following quadratic
equation are real and equal , find k.

(ikx(x —2) + 6 = 0.

o Watch Video Solution

Practice Set 2 6

1. Product of Pragati's age 2 years ago and 3 years

hence is 84. Find her present age.

| & |


https://dl.doubtnut.com/l/_EPzZLxn5Hhpf
https://dl.doubtnut.com/l/_snOQicfK8gqC
https://dl.doubtnut.com/l/_LoJ82FdtAxIw

| & Watch Video Solution

2. The sum of squares of two consecutive even

natural number is 244. Find the numbers.

° Watch Video Solution

3. Vivek is older than Kishor by 5 years. The sum of

the reciprocals of their ages is 5 Find their

present age.

° Watch Video Solution



https://dl.doubtnut.com/l/_LoJ82FdtAxIw
https://dl.doubtnut.com/l/_Lg7QBv8gc71y
https://dl.doubtnut.com/l/_TLrGspbGpyJD
https://dl.doubtnut.com/l/_3oISvDS2JqDP

4. Suyash scored 10 marks more in second test than
that in first. 5 times the score of the second test is
same as square of the score in first test. Find his

score in first test.

° Watch Video Solution

5. Mr. Kasam runs a small business of making
earthen pots. He makes certain number of pots on
daily basis. Production cost of each pot is Rs. 40
more than 10 times total number of pots, he makes

in one day. If production cost of all pots per day is


https://dl.doubtnut.com/l/_3oISvDS2JqDP
https://dl.doubtnut.com/l/_I0hosA6VslIS

Rs. 600, find production cost of one pot and

number of pots he makes per day.

° Watch Video Solution

6. Pratik takes 8 hours to travel 36 km downstream
and return to the same spot.The speed of boat in
still water is 12 km. Per hour. Find the speed of

water current.

o Watch Video Solution



https://dl.doubtnut.com/l/_I0hosA6VslIS
https://dl.doubtnut.com/l/_ulHjBoLZLEdv

7. Pintu takes 6 days more than those of Nishu to
complete certain work. If they work togeter they
finish it in 4 days. How many days would it take to

complete the work if they work alone.

° Watch Video Solution

8.1f 460 is divided by a natural number , quotient is
6 more than five times the divisor and remainder is

1. find the quotient and divisor.

° Watch Video Solution



https://dl.doubtnut.com/l/_2SyN5Dcczwyg
https://dl.doubtnut.com/l/_sTDKriw6FBCg

Problem Set

1. Which one is the quadratic equation?

5)
A.—=ar:2
T

B.x(x+5)=2
C.n-1=2n

1
D.;(m—I—Z):w

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_eOLgCmO32l4r

2. Choose the correct answer for the following
questions.
(i) Out of the following equation which one is not
a quadratic equation?

A z? + 4z = 11 + 22

B.z? = 4z

C.5z° = 90

D.2z —z2 =22+ 5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MAcFWI4m9kLc

3.The roots of 2 + kx + k = 0 are real and equal,
find k.

AO

B.4

C.Oor4

D. 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_c8CjLiMpvYQc

4. For 1/2z% — 5z + /2 = 0 find the values of the

discriminant .

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_iCREd9bevnw0

5. Which of the following quadratic equations has

roots 3,5 ?

Az’ —152 +8 =10

B.z2 -8 +15=0

Cz’+3x+5=0

D.z2 + 8¢ — 15 =0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_7n9m6ppxebVi

6. Choose the correct answer for the following
questions.
(vi) Out of the following equations, find the
equation having the sum of its roots -5.

A3z — 152 +3 =0

B.2> — 5z +3=0

Cz’—b5x+3=0

D.N/A

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ldu5GfKssh7g

7. Choose the correct answer for the following

questions.
(viiy 4/Bm® — /bm + /5 =0 which of the
following statement is true for this given equation?
A. Real and unequal roots
B. Real and equal toots

C. Roots and not real

D. Three roots

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_r7kvcR5m2UIc

8. Which of the following are quadratic equations?

22+ 22 +11 =0

° Watch Video Solution

9.2% — 2z + 5 = ? is quadratic ?

o Watch Video Solution

10. Which of the following are quadratic equations?

(z + 2)° = 22°

o Watch Video Solution



https://dl.doubtnut.com/l/_5496VIBCZ5YR
https://dl.doubtnut.com/l/_sMgLBtG2TB2w
https://dl.doubtnut.com/l/_AqXknn4JBxbi

11. Find the value of discriminant for

20° —y+2=0

o Watch Video Solution

12. Find the value of discriminant for each of the

following equations.

2

nm® —m =0

° Watch Video Solution



https://dl.doubtnut.com/l/_AqXknn4JBxbi
https://dl.doubtnut.com/l/_4VWZoQzWjtFA
https://dl.doubtnut.com/l/_QE72wWcMHHan

13. Find the value of discriminant for

\/3:132—:1:—\/3:0

° Watch Video Solution

14. One of the roots of quadratic equation

222 + kx — 2 = 0is -2, find k.

° Watch Video Solution

15. Two roots of quadratic equations are given,

frame the equation.


https://dl.doubtnut.com/l/_xMb71WN24KG8
https://dl.doubtnut.com/l/_Wgk4nHpyFRce
https://dl.doubtnut.com/l/_sIyXrDIEuDC1

10 and -10

° Watch Video Solution

16. Two roots of quadratic equations are given,

frame the equation.

1-3y5 and 1+ 3,/5

° Watch Video Solution

17. Two roots of quadratic equations are given,

frame the equation.

Oand 7



https://dl.doubtnut.com/l/_sIyXrDIEuDC1
https://dl.doubtnut.com/l/_w6tZvwfUZDty
https://dl.doubtnut.com/l/_WWZo0E6SZjIv

‘ o Watch Video Solution

18. Determine the nature of roots for quadratic
equation

322 — 52 +7=0

° Watch Video Solution

19. /32 — 2422 — 2,/3 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_WWZo0E6SZjIv
https://dl.doubtnut.com/l/_lCWLL1guGICa
https://dl.doubtnut.com/l/_dViMxxpxKqRi

20. Determine the nature of roots for each of the
quadratic equations.

m?>—2m+1=0

° Watch Video Solution

21. Solve the following quadratic equations :

1 1

r+5 x2

° Watch Video Solution



https://dl.doubtnut.com/l/_i4GKwrW5mJJC
https://dl.doubtnut.com/l/_YY5gOYzBUb6c

22. Solve the following quadratic equations:

° Watch Video Solution

23. Solve the following quadratic equations:

(2z + 3)° = 25

° Watch Video Solution

24. Solve the following quadratic equations :

m?+5m+5=0



https://dl.doubtnut.com/l/_oI1p77shXRXz
https://dl.doubtnut.com/l/_jSWEUd4dlcSF
https://dl.doubtnut.com/l/_xYZrPHHx7IhN

| QP Watch Video Solution

25. Solve the following quadratic equations :

5m2 +2m +1 =0

o Watch Video Solution

26. Solve the following quadratic equations :

23 —4r —3=0

o Watch Video Solution



https://dl.doubtnut.com/l/_xYZrPHHx7IhN
https://dl.doubtnut.com/l/_9cxU1DMAHK1i
https://dl.doubtnut.com/l/_HGPciEFbb0LO

27. Find m, if the quadratic equation
(m — 12)z® + 2(m — 12)z +2 = 0 has real and

eqaul roots.

° Watch Video Solution

28. The sum of two roots of a quadratic equation is
5 and the sum of their cubes is 35. Find the

equation.

° Watch Video Solution



https://dl.doubtnut.com/l/_mwx9Gi29YF2D
https://dl.doubtnut.com/l/_DxMNv2lhHfC6

29. Find quadratic equation such that its roots are
square of sum of the roots and square of
difference  of the roots of equation

(22 +2(p+ @z +p° +¢* =0

° Watch Video Solution

30. Mukund possesses RS 50 more than what Sagar
possesses. The product of the amount they have is

numerically RS 15000. Find the amount each has.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZnrD8RbHpi63
https://dl.doubtnut.com/l/_khkIMNWgZRuH
https://dl.doubtnut.com/l/_7ByDTz8UJ5ee

31. The difference between the squares of two
numbers is 120. The square of the smaller number

is twice the greater number. Find the numbers.

° Watch Video Solution

32. Ranjana wants to distribute 540 oranges
among some students. If 30 students were more
each would get 3 oranges less. Find the number of

students.

° Watch Video Solution



https://dl.doubtnut.com/l/_7ByDTz8UJ5ee
https://dl.doubtnut.com/l/_nfPrG1WGfGOT

33. Mr. Dinesh owns an agricultural farm at village
Talvel. The length of the farm is 10 meter more than
twice the breadth. In order to harvest rain water, he
dug a square shape pond inside the farm. The side
of pond is % times of the breadth of the farm. The
area of the farm is 20 times the area of the pond.
Find the length and breadth of the farm and of the

pond.

° Watch Video Solution

34. A tank fills completely in 2 hours if both the

taps are open. If only one of the taps is open at the


https://dl.doubtnut.com/l/_mGSOeUgmh1T4
https://dl.doubtnut.com/l/_c3xpTNc1ztfQ

given time, the smaller tap takes 3 hours more than
the larger one to fill the tank. How much times

does each tap take to fill the tank completely?

° Watch Video Solution

Hots Solved

1. A car covers a distance of 240km with some
speed . If the speed is increased by 20km/hr, it will
cover the same distance in 2 hours less find the

speed of the car.

° Watch Video Solution



https://dl.doubtnut.com/l/_c3xpTNc1ztfQ
https://dl.doubtnut.com/l/_wonoR8w4eL28

2. The product of four consectuive positive integers

is 1680. find the numbers.

° View Text Solution

3.Solve 2(y> — 6y)” — 8(y® — 6y +3) — 40 =0

° View Text Solution

1
4. Two year ago my age was 45 times the age of

my son . Six years ago, my age was twice the square


https://dl.doubtnut.com/l/_wonoR8w4eL28
https://dl.doubtnut.com/l/_Kln9ixPGPLTx
https://dl.doubtnut.com/l/_GBXehegpjqZY
https://dl.doubtnut.com/l/_12oppJl6sgGu

of the age of my son. What is the present age of my

son ?

° Watch Video Solution

5. From the same place at 7am ‘A started walking in
the north at the speed of 5 km/hr. after 1 hr B
started cycling in the east at a speed of 16km/hr. At
what time they will be a distance of 52km apart

from each other ?

o View Text Solution



https://dl.doubtnut.com/l/_12oppJl6sgGu
https://dl.doubtnut.com/l/_nnwvolXvW6Nu

6. A businessman bought some items for Rs. 600.
Keeping 10 items for himself he sold the remaining
items at a profit of Rs. 5 per item. From the amount
received in this deal he could buy 15 more items.

Find the original price of each item.

o Watch Video Solution

Unique Practice Session

1. Which of the following is one root of the

quadratic equation z? — 7z + 10 = 0


https://dl.doubtnut.com/l/_MaaoIbc8n3XM
https://dl.doubtnut.com/l/_YxPA7G60cb8U

A7

B.5

Answer:

° Watch Video Solution

2. What is nature of the roots of the quadratic

equation 9z° + 6z +1 =0

A. Real and equal


https://dl.doubtnut.com/l/_YxPA7G60cb8U
https://dl.doubtnut.com/l/_zQwdnhUDJHM0

B. Not real

C. Real and unequal

D. None of these

Answer:

o Watch Video Solution

3. If a= —7 and = —3 the quadratic

equation is

Az2—-10z —21=0

B.z +10x +21 =0


https://dl.doubtnut.com/l/_zQwdnhUDJHM0
https://dl.doubtnut.com/l/_LMma3Hut656N

Cz?=10z +21 =0

D.z2 + 10z — 21 =0

Answer:

° Watch Video Solution

4, 9’ —5p—4=0 for

a+pB=....

this

equation


https://dl.doubtnut.com/l/_LMma3Hut656N
https://dl.doubtnut.com/l/_kHy4AONnf5X5

Answer:

° Watch Video Solution

5. Find af  for quadratic  equation

6y> + 17y + 12 =0

B.3

C.2


https://dl.doubtnut.com/l/_kHy4AONnf5X5
https://dl.doubtnut.com/l/_JEfIbYPXav7q

Answer:

° Watch Video Solution

6. State which root of the following

z? — 4z + 3 = 0 equation

A.8

B.1

D.O

Answer:



https://dl.doubtnut.com/l/_JEfIbYPXav7q
https://dl.doubtnut.com/l/_StvpM5g2rTgG

‘ ° Watch Video Solution

7. If a+8= —2,a8 = — 35 then quadratic

equation is ...

Az +22+35=0

B.z2 -2z —35=0

Czx?4+22—-35=0

D.z°2 — 36 =0

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_StvpM5g2rTgG
https://dl.doubtnut.com/l/_KfYDtyTbpDy9

8. Roots of the quadratic equation are

922 — 81 =0

A—T7,6

B.6, — 6

C.3, —3

D.9, — 9

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0nc5DRdTS7DC

9. Write the given quadratic equation in standard

1
formzx + — =4
T

Az> -4z +1=0

B.z2 44z —1=0

Cz’l—4x—-1=0

D.z2 — 4z = 40

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_GpbkeNazEjS9

10. What are the roots of 22 + 3z + 2 = 0

A—1, —2

B.4+1, +2

C.—1,2

D.1, — 2

Answer:

° Watch Video Solution

11. Find values of y for equation 2y* 4+ 5y — 7 = 0

.


https://dl.doubtnut.com/l/_RnkgUPFbqf6c
https://dl.doubtnut.com/l/_EzP2cXKjru7S

| ¥ Watch video >Solution |

12. Find the value of a, b, c in the following
quadratic equation:

22 — 2z —3=0.

o Watch Video Solution

13. Write the following quadratic equation in a
standard form

2¢(z +7)+5=0

° Watch Video Solution



https://dl.doubtnut.com/l/_EzP2cXKjru7S
https://dl.doubtnut.com/l/_8ey5lHB8Cki1
https://dl.doubtnut.com/l/_4EeM26cyHtTJ

14. Verify whether 1 is the root of the quadratic
equation:

2 +3z2—-4=0

° Watch Video Solution

15. Find the value of discriminant for the equation

where a=b, b=-4 and c=2

° Watch Video Solution



https://dl.doubtnut.com/l/_1z3wEyzKkOAx
https://dl.doubtnut.com/l/_dU7JHFxhSLrZ

16. For one quadratic equation A = — 12 then

state nature of roots for that equation

° Watch Video Solution

17. For one quadratic value of discriminant is O,

then state nature of roots for that equation

° Watch Video Solution

18. Find a + 8 and «f value for the quadratic

equationhasa =2,b= —4 and c= — 2



https://dl.doubtnut.com/l/_M6Wx7Zu4bMc3
https://dl.doubtnut.com/l/_XgoB93cYdH0W
https://dl.doubtnut.com/l/_VrvYKuhMwJ3V

| QJ Watch Video Solution

19. Find the value of a + 8 for the equation

2+ 82 +12=0

o Watch Video Solution

20. Find the value of af for the quadratic equation

20  —Ty+2=0

o Watch Video Solution



https://dl.doubtnut.com/l/_VrvYKuhMwJ3V
https://dl.doubtnut.com/l/_FakCqQq2GZus
https://dl.doubtnut.com/l/_STEO70zcGDk7

2. If a4+ B =3 and af= —4 for one
quadratic equatiojn then find that quadratic

equation .

° Watch Video Solution

22. If  for one quadratic equation
a+ B8 =5 and af =6 , then find value of

a? + B2

° Watch Video Solution



https://dl.doubtnut.com/l/_s0Sy0C7P5uig
https://dl.doubtnut.com/l/_RwL54SleV2aa

23. For one quadratic equation

a?+ 42 =13 and aB = 6, then find value of

a p
5 a

° Watch Video Solution

24. Solve by factorisation . 222 + 9z + 9 = 0

o Watch Video Solution

25. Solve by factorisation . 9z — %54 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_pP4GX3ktxDu8
https://dl.doubtnut.com/l/_wrGhJxFSADrP
https://dl.doubtnut.com/l/_DL2aNJKIyGXo

26. Find the wvalue of discriminant of

V3z? + 242z — 2,/3

° Watch Video Solution

27. If root of a quadratic equation are
(3 — \/7), (3 + \/7) and then find the quadratic

equation

o Watch Video Solution



https://dl.doubtnut.com/l/_DL2aNJKIyGXo
https://dl.doubtnut.com/l/_ur18REZJSRxE
https://dl.doubtnut.com/l/_wFjEXsZy5zSr

28. Solve the following problems :
The product of two consecutive even natural

numbers is 120. Find the numbers.

° Watch Video Solution

29. Write the value of a, b, c for quadratic equation

H
22— — =2 —606
z

° View Text Solution



https://dl.doubtnut.com/l/_XLrXgmUbIFud
https://dl.doubtnut.com/l/_8kNNCWUv4TSp

30. Find the value of C, if the -equation

2> — 2(C 4 1)z + C* = 0 has real and equal root

° Watch Video Solution

31. 222 — Tz + 6 = 0 check whether (i) x=2 are

solution of the equation

° Watch Video Solution

32. Solve the following quadratic equation by

factorisation method:


https://dl.doubtnut.com/l/_3GVUJ1tXqjuy
https://dl.doubtnut.com/l/_2PSdX34UoFCJ
https://dl.doubtnut.com/l/_BwDDxWz95WL5

(iv) m? — 14m + 13 = 0.

o Watch Video Solution

33. Solve the following quadratic equation by
factorisation method:

(xv) 322 — z — 10 = 0.

° Watch Video Solution

34. Solve the following quadratic equation by
factorisation method:

(viii) 3y* = 15y.



https://dl.doubtnut.com/l/_BwDDxWz95WL5
https://dl.doubtnut.com/l/_1sY6C9MNlyxM
https://dl.doubtnut.com/l/_LhQE19PKzm7a

‘ o Watch Video Solution

35. Solve the following quadratic equation by
factorisation method:

(ix) 22 = 3

° Watch Video Solution

36. Find the value of the discriminant of the

equation 2 + 10z — 7 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_LhQE19PKzm7a
https://dl.doubtnut.com/l/_t7Fzy7le1Ogg
https://dl.doubtnut.com/l/_AvuFYgFhdGHr
https://dl.doubtnut.com/l/_tCQILWaeYUEp

37. Obtain a quadratic equation whose roots are -3

and -7.

° Watch Video Solution

38. Determine nature of roots of the quadratic
equation

202 — 5z +7=0

° Watch Video Solution

39. Determine the nature of roots of the following

quadratic equations.


https://dl.doubtnut.com/l/_tCQILWaeYUEp
https://dl.doubtnut.com/l/_VoijCLhdcPmI
https://dl.doubtnut.com/l/_9bEu9zv3jiAj

(v) /3% 4 24/3z + /3 = 0.

o Watch Video Solution

40. If a and B are the roots of the quadratic
equation 2z® + 62 — 5 = 0, then find (o + ) and

a X f.

° Watch Video Solution

41. Solve the following quadratic equations by

formula method, z? — 4z +1 = 0

° Watch Video Solution



https://dl.doubtnut.com/l/_9bEu9zv3jiAj
https://dl.doubtnut.com/l/_Abno14X9QSg0
https://dl.doubtnut.com/l/_iCW4UZvNMXS0

42. If a+ B =6 and oz2—|—52:72, find a

quadratic equation whose roots are « and pS.

° View Text Solution

43. If root of one quadratic equation are
(4\/§—|—3) and (4\/5—3) then find the

quadratic equation .

° Watch Video Solution



https://dl.doubtnut.com/l/_iCW4UZvNMXS0
https://dl.doubtnut.com/l/_RbrYCATmxEYC
https://dl.doubtnut.com/l/_QbCNhgaVWLvM

44, If a =5+ 2y/2 and B =5 — 22 are the
roots of the equation 2 — 10z + k then find the

value of k.

o View Text Solution

45. Solve the quadratic equation by formula

method 2 + 2¢/3z +3 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_TqHSp0jeZ1G9
https://dl.doubtnut.com/l/_4lI6El229xoj

46. Solve the quadratic equation by factorisation

§
method 4z + o =11

° Watch Video Solution

47. The product of shabnam's age 5 years ago with
her age 9 years later is 176. find the present age of

shabnam

° Watch Video Solution



https://dl.doubtnut.com/l/_QKR2McxaPPKs
https://dl.doubtnut.com/l/_wuUIGHTXAbqd

48. The sum of two numbers is 15 and sum of their

reciprocals is TR find the numbers.

° Watch Video Solution

49, A natural number is a greater than three times

its squares root by 4. find the number

° Watch Video Solution

50. Solve the following quadratic equation by

factorisation method:


https://dl.doubtnut.com/l/_aULxiQfAtRuz
https://dl.doubtnut.com/l/_5fRPNeogtMwg
https://dl.doubtnut.com/l/_OUyiXYN6r5U0

(xviii) 6/32% + Tz = /3.

o Watch Video Solution

51. Solve the following quadratic equations

equation by using formula.

(i)Y m? — 14m + 13 = 0.

° Watch Video Solution

52. Solve the following quadratic equations
equation by using formula.

(xii) 22 + 10z + 2 = 0.



https://dl.doubtnut.com/l/_OUyiXYN6r5U0
https://dl.doubtnut.com/l/_S6qMr9coeDyw
https://dl.doubtnut.com/l/_ObRYeHHkBA3M

‘ ° Watch Video Solution

53. Solve the following quadratic equations
equation by using formula.

(i)z?2 — 22 — 3= 0.

° Watch Video Solution

54. Solve the following quadratic equations
equation by using formula.

(viii) 2522 + 30z + 9 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_ObRYeHHkBA3M
https://dl.doubtnut.com/l/_Wvdb7bQxTpK6
https://dl.doubtnut.com/l/_Q3hlwy2X262f

55. Solve the following quadratic equations
equation by using formula.

(ivyz? +z +5=0.

° Watch Video Solution

56. The difference between the roots of the

equation 2 — 13z + k = 0is7,find k.

° Watch Video Solution



https://dl.doubtnut.com/l/_WFfxjCKOQfzU
https://dl.doubtnut.com/l/_A3xBqXxx7qYw

57. If a and f are roots of

22 +5z —1=0, thenfind (i)o® + B3(ii)a’® + B2

° View Text Solution

58. If a and [ are the roots of the quadratic
equation z® — 5z + 6 = 0 then find ‘alpha®2 +

beta”2

o Watch Video Solution



https://dl.doubtnut.com/l/_n7QrzGLkY87o
https://dl.doubtnut.com/l/_KfCEd3bOpzGH

59. If a and [ are the roots of the quadratic

B

equation 2 — bz + 6 = 0then find % + -~

° Watch Video Solution

60. The difference of roots is 9 and the sum of their

square is 13. find the quadratic equation ?

° View Text Solution

61. The sum of the squares of two consecutive odd

natural numbers is 290 . Find the numbers.



https://dl.doubtnut.com/l/_zgvUeOYFzv66
https://dl.doubtnut.com/l/_EajH1eIPAu1L
https://dl.doubtnut.com/l/_kGJTV1ihf7ue

| ) Watch Video Solution

62. Solve the quadratic equation

5zt — 2222 + 8 =0

° Watch Video Solution

63. Three sides of right angled triangle are three

consecutive even numbers. Find the hypotenuse

° Watch Video Solution



https://dl.doubtnut.com/l/_kGJTV1ihf7ue
https://dl.doubtnut.com/l/_HIqkhGRHlWvG
https://dl.doubtnut.com/l/_R7QqtlcmTBPO

64. Solve the equation (p2 + p) (p2 +p— 3) = 28

° Watch Video Solution

65. The denominator of a fraction exceeds its
numerator by 2. If one is added to both numerator
and denominator, the difference between new and
the original fraction is TR Find the original

fraction with positive denominator.

° Watch Video Solution



https://dl.doubtnut.com/l/_uFCeVL3YnAlK
https://dl.doubtnut.com/l/_kR3wl4dbxdzB

66. Solve the quadratic equation z2 + 8z + 15 = 0

by the method of completing square

° View Text Solution

67. Solve 9m* — 12m + 2 = 0 by the method of

completing square .

° View Text Solution

6
68. Solve the following equation 4y* + — = 11

Y

o View Text Solution



https://dl.doubtnut.com/l/_KwXBiIGXqd9w
https://dl.doubtnut.com/l/_TirTnScOG5NM
https://dl.doubtnut.com/l/_785LcAJFFJtt

69.Solve 52> — 4z — 3 = 0

° Watch Video Solution

70. The area of a rectangular playground is 420
sg.m. If its length is increasing by 7m and breadth
is decreased by 5m, the area remains the same.Find

the length and breadth of the playground.

° Watch Video Solution



https://dl.doubtnut.com/l/_785LcAJFFJtt
https://dl.doubtnut.com/l/_E9SjLgWE3tnp
https://dl.doubtnut.com/l/_g4dZBXZKl7Bl

71. Four - fifths of a number is greater than three

fourths of the number by 4 find the numbers.

° Watch Video Solution

72. If the cost of an apple is increased by Rs.1 per
piece, then one can get 2 apples less for Rs. 840 .

Find the original cost of one apple.

° Watch Video Solution



https://dl.doubtnut.com/l/_W9SYioHv7sAn
https://dl.doubtnut.com/l/_fxRTC6VdVcoz

73. The product of four consecutive positive

integers is 840. Find the numbers.

° Watch Video Solution

74. The divisor and quotient of the number 6123
are same and the remainder is half the divisor. Find

the divisor.

° Watch Video Solution



https://dl.doubtnut.com/l/_qmXaN00E1u1a
https://dl.doubtnut.com/l/_IO3msqWwAvTi

75. The difference between two positive integers is
2 and difference between their cubes is 98. find the

numbers

° View Text Solution

76. There is a rectangular onion storehouse in the
farm of Mr. Ratnakarrao at Tivasa. The length of
rectangular base is more than its breadth by 7m
and digonal is more than length by T m. Find length

and breadth of the storehouse.

° Watch Video Solution



https://dl.doubtnut.com/l/_z4ObmAuLYxMb
https://dl.doubtnut.com/l/_vCfOt1kNJ30X

77.Solve the following questions.

(ii) A train travels 360 km with uniform speed.The
speed of the train is increased by 5km / hr, it takes
48 minutes less to cover the same distance. Find

the initial speed of the train.

° Watch Video Solution

1. Out of the following equations which one is nota

quadratic equation ?


https://dl.doubtnut.com/l/_MrKbKYl3YCu0
https://dl.doubtnut.com/l/_qkJpYm94coFP

Az 4+ 4z = 11 + 22

B.z2 = 4z

C.5z> = 90

D.2z —z2 =z’ +5

Answer:

° Watch Video Solution

2. For v/22% — 52 + /2 = 0 find the values of the

discriminant .


https://dl.doubtnut.com/l/_qkJpYm94coFP
https://dl.doubtnut.com/l/_ZFlZ8wB2bLYR

B.17

C./2
D.2y/2 -5

Answer:

o Watch Video Solution

3. Solve the following quadratic equations by using
formula method :

22 -3z -2=0

° Watch Video Solution



https://dl.doubtnut.com/l/_ZFlZ8wB2bLYR
https://dl.doubtnut.com/l/_RWKHUyxTGKU6

4, One of the roots of equation

5m? +2m+k=0 is — % Complete the

following activity to find the value of 'k'.

° Watch Video Solution

5. Vivek is older than Kishor by 5 years. The sum of
1
the reciprocals of their ages is 5 Find their

present age.

° Watch Video Solution



https://dl.doubtnut.com/l/_7JktK0YFFUTn
https://dl.doubtnut.com/l/_WTjLqcvj09ge

6. A businessman bought some items for Rs. 600.
Keeping 10 items for himself he sold the remaining
items at a profit of Rs. 5 per item. From the amount
received in this deal he could buy 15 more items.

Find the original price of each item.

° Watch Video Solution



https://dl.doubtnut.com/l/_Sw0UWly4WsMC

